Roll Ne. ......

2000171(046)

Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2021

(Scheme : NITTTR)
(Branch : CSE)

COMMUNICATION SKILLS—I
Time : Three Hours | . [ Maximum Marks : 70

[Minimum Pass Marks : 25
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1. () Rewrite the following sentences using the correct
verb in the brackets : i 5
(@) The artisans, not the foreman

(b)
©

(d)

©

(deserve/deserves) praise for the increase in
production.

All of the oil (has/have) been stolen.

The Thirty-nine Steps (was/were) written by
John Buchan.

Either the sand or the soil (is/are) not of
desired quality.

Two thousand rupees (is/are) too much for
me to pay.
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(ii) Rewrite the following sentences in passive voice :

(@)

(®
©
(d)

(e)

5
People say that laser high is good for
bloodless surgery.

I shall send my brbther a nfce Diwali gift.
The embassy refused Mohan a passport.

They have done many problems of from this
exercise.

People are criticizing the collector for-

corrupt practices.

(iii) Puta, an, the some, or any where necessary : 5

(a) My engineer friend took me to ....... site of
.......... dam where I saw .......... mechanical
shovel at work.

(b) Isthere............. petrol left in the fuel tank ?

(c) The engineer found ............ dumper trucks
standing idle at the site.

(iv) Insert suitable preposition : : 5

(@) The children was watching the TV ...........
the next room.

(b) He prefers to sit ............ the back of the
class.

(c) Agirl ... blue eyes has recently joined
our firm

(d) He was born ......... Mumbai in Maharashtra.

(¢) The dining set is made .............. stainless

steel.
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2. Attempt any fwo of the following : * 7% each
(a) List down the process and purpose of listening.
(b) “Good LSRW skills provide a key to success in
career.” Explain the statement.
(¢) Explain the process of communication, indicating
clearly the role of each constituent element. _
3. (a) Write summary of any one of the following : 7
An Astrologer’s Day ;
Or
The Selfish Giant
(b) Why did Lencho call the post office people ‘a
bunch of crooks’ ? 4
(c¢) How did the astrologer tackle Guru Nayak ? 4
4. (a) Answer any five of the following questions :

2 each

(i) Why does an English student have to learn
new words of English ?

(ii) Why are two thirds of diseases in India
water borne ?

(iii) What does the term ‘biosphere’ describe ?

(iv) Which two  factors determine an
entrepreneur’s financial rewards ?

(v) What does an entrepreneur do for others ?
(vi) Who are effective leaders ?

(vii) Why does the scientist use the special word
and from where do they get them from ?

P.T.O.



[4] 2000171(046)

(b) Fill in the blanks with the appropriate word
given  (loacated, supplement,  expertise,
persuasive, eroded) : 5

(i) Technical .......... of the production manager
cannot be called into question.

(ii) For a business to flourish, it must be ......... at
a good place.

(iii) He............. his income by giving tuition.
(iv) Land around a river is ............ by its water.

V) or.. il skills is needed to be successful
while striking a deal.

(c) Answer any one of the following : 5

(i) Write a paragraph on how the language of
science is different from the language of
common use.

‘(i) Write short notes on ‘Biogas’ and ‘Solar
Energy Storage’. ‘

- (iii) Discuss the adverse effects of the
environment.
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